MAP 4176 /5178 Name:
Test 6 Date: February 22, 2017

Show all work for full credit, use correct notation, and clearly mark your answer.
Each problem is worth 10 points.

1. Use constant force assumptions with § = 0.05 and i = 0.05 to determine the
expected present value of a continuous whole life annuity issued to (x) paying at a
rate of 100 per year.

2. Givena, = 16, Qyia] = 15, Gyyn = 10, and v™ = 0.2 determine ,p,.

3. Givenindependent lives with u, = 0.05, iy = 0.03,and § = 0.02, determine the
actuarial present value of a continuous 10-year temporary annuity paying at a rate
of 5000 per year while both are alive.






